MeToabl pelueHuUnA
TPUFOHOMETPUYECKUX
ypaBHEeHUU

nCBeaeHne K KBaapaTHbIM YPAaBHEHUSAM;
»CBeeHne K 0O4HOPOAHbIM YPAaBHEHUS;

) pynnnUpoBKa U pa3ylioXeHne Ha
MHOXUTENNU;

s»HlMpeobpazoBaHMe CyMM B NMpou3BeaeHUs U
npou3BeaeHnn B CYMMbl;

s55MeTon BCnoMoratesnibHOro yrna;
o) MeToa Ma>kOpaHT.




CBeaeHuMe K KBagpaTHbIM.

4cosx =4—sin’ x

] -sinx=cosx—sin2x



[‘pynnupoBKa v pasnoxeHue Ha
MHOXUTENU

2c082x = \E(cosx—sin x)
2sin’ x —cos2x —sinx = 0
1

sin® x +cos’> x = Esin 2Xx



CBegeHve K ogHOPOAHbLIM
YypaBHEHUAM

4sin2 x — sin 2x =3.

( h
sin? x—+/2 cos| 2x—2 | =1
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[Mpeobpa3oBaHue cymm B
npousBeneHnUa u NpousBegeHNn B
CYMMbI

cos3x+cosx=4cos2x

. . 3
sinx+smn3x=4cos’ x

cos3xcos4x+sin2xsinSx = 1 (cos2x +cos 4x)
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MeToa BCcnomoraTtenbHOro yrna

\@sinx—cosx=2
S5sinx=3—-2cosx

\Esinxﬂ:osx:%



MeToa MakopaHT.

cos(7mx)=x* = 6x+10

cos’ x+sin“ x+4sin9x =7

6x +x° —Xx° —\/cosnx—l =0



